
 

Gib reine Zehner dazu! 

35 + 60 = 99 

48 + 50 = 98 

53 + 40 = 95 

61 + 30 = 93 

29 + 70 = 91 

47 + 30 = 87 

17 + 20 = 77 

37 + 10 = 67 

27 + 40 = 47 

27 + 60 = 37 
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Nimm reine Zehner weg! 

57 – 10 = 37 

87 – 10 = 47 

97 – 40 = 57 

67 –   0 = 67 

97 – 60 = 77 

85 – 60 = 5 

65 – 20 = 25 

95 – 10 = 45 

75 – 70 = 65 

95 – 30 = 85 
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Gib reine Zehner dazu 
oder nimm sie weg! 

48 – 30 = 8 

78 – 40 = 18 

58 – 50 = 28 

98 – 30 = 38 

68 – 40 = 48 

48 + 10 = 58 

18 + 60 = 68 

38 + 50 = 78 

28 + 70 = 88 

18 + 30 = 98 
 
 



Irene Mayerhofer 2004                            http://vs-material.wegerer.at 

 

Gib reine Zehner dazu 
oder nimm sie weg!  

42 + 10 = 2 

22 + 20 = 12 

92 – 80 = 22 

32 – 30 = 32 

52 – 30 = 42 

12 + 20 = 52 

92 – 20 = 62 

32 + 60 = 72 

82 – 20 = 82 

 2 + 80 = 92 
 


